Warmup

Be sure you have your homework out from yesterday so we can come around
and check it off :)
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Module 0.9 Name:

Dimensional Analysis is the process of converting units. Use either the conversion factors that are given
and/or some common conversion factors you may know to complete the problems below.

1.) A family pool holds 10,000 gallons of water. How many( cubic meters 13y this? (264.2 gal = 1 cubic m)
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2.) The average American student is in class 3§ minutes/day. How many hours/day is this?
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3.) How many seconds are there in 1 year?
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4.) Pepsi puts 355 ml of pop in a can, 355 ml of pop in a can. How many drops is this? (20 drops = 1 ml) C?) ;53(0} wo XCS:
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5. ) Sixty miles/ hour is how many ft/sec? ft/sec? (5,280 ft =1 mi)
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6.). The distance from Santa Maria to Los Alamos is 16.25 mi. What is the distance 1{:‘]@T @
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8) A typical student ruler is 12 inches long. How long would it be in centimeters?
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food container, you can often read its capacity. One such container said 64 oz. Is it bigger
If so, how much longer? If not, how much smaller?

9) On the bottogesiy
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10) Angela weighs 56 kg. Theresa weighs 128 lbs. Judie weighs 137 Ibs and Elizabeth weighs 60 kg. Write the

girls in order from llghtest to heaviest. _ —_
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11) You are driving a race car with Mr. Peanut in the passenger seat. Your current speed is 110 miles per hour.
What is the speed in inches per second?




